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Advanced Algebra
semester 2 Final Review

Graph the functions. State the domain and range. Also state the asymptotes if there are any.
The chapter the problem is found is given in parentheses.
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(7) Simplify each radical expression. Assume all variables are positive.
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" (7) For each function f(x), find the inverse f(x).
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(9) Simplify each rational expression. State any restrictions.
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(9) Add or Subtract. Simplify where possnble

Z:’6x+ F 2x-5 f?% 2y N {g{?}
33
x+2> ATx =5 x+7{}<»~%;
yAE X7y P - ) —
|Ax+2 | x5 f’ T4x ”3 AxEelUx 7 w;@}f Fox*s ﬁx
ACSES 2%5{%’2 Y, ALK | (X+Dx-2) {im}i;@% m ) |
(9) Variation

34. Sound intensity S varies inversely to the square of the distance d from the source. Suppose the sound
intensity is 30 watts per square meter (W / m” ) at 8 meters. What is the sound intensity at 4 meters?
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Write the function model for the given variation. A
35. w varies jointly with x and the square of y if k=5.  36. P varies directly with t and inversely with r if k=8.
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Solve the equation. In questions 1-4, be sure to check for extraneous solutions. The chapter the problem
is from is given in parentheses.
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51. (8) You purchased land for $50,000 in 1980. The value of the land increased by 4% per year. What is the
value of the land in the year 2000?
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52. (8) You deposit $1500 in a bank account. The account pays 1.75% annual interest compounded annually.
What is the balance after 3 years?
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53. (8) You buy a new car for $21,000. It depreciates by 10.5% each year. Find when the car will have a
value of $17,000.
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54. (8) You deposit $850 in an account that pays 6.5% ann\f?al interest compounded continuously. What is the
balance after 5 years? i
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Statistics

55. Is the following normally distributed, 56. Sketch a normal curve and label 3 standard

positively skewed, or negatively skewed? Deviations above and below the mean if
the mean is 62 and the standard deviation is 4.5.
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57. Make a box and whisker plot of the following data and then answer the questions.

72 65 51 89 93 93 86 62

a) What is the range? 7) 5\
b) What is the interquartile range? q | - 3.9 = 9’) 6

c¢) What is the median? 70\




